BEAD GEXEF - BTTH5)

RFTESH | B
;1) X % # F K A ! % %

B 7 & o X 7,01 | 13,368 7,026 6,342

X B # K 1,200 2,778 1,378 1,400

£ P # K 546 1,348 675 673

N RO K 1,01 | 2,54 | 1,274 1,267

Bl £ # K 7,218 14,730 7,179 7,55 |

N | R # K 1,330 3,067 1,505 1,562

it XX M # K 1,049 2,377 1,186 1,191

it &8 & b K 7,984 18,112 8,634 9,478

B » B # X 6,636 16,119 8,056 8,063

& 5 33,985 74,440 36,913 37,527
LfT7E5H | H

w K A& BT T % # #H A ! 5 54

B 7 WX BE 7 1B T A 4,654 9,225 4,66 4,564
¥ F 215 368 208 160

® B E 449 836 424 412

£ L L H 788 1,362 860 502

g R H 312 524 290 234

53 ip) 593 1,053 583 470

#H K3 7,01 | 13,368 7,026 6,342

A E 1 K £ B H 89 202 102 100
K & H 817 1,906 931 975

= K | 44 325 166 |59

+ K 1% #7 6T 150 345 179 166

#H K3 1,200 2,778 1,378 1,400

k P # K ® B H 139 338 177 16|
& fF 16 35 15 20

£ @\ H 128 397 188 209

& & H a6 207 96 1]

R H 103 229 128 101

K F  H 64 142 71 71

#H K3 546 1,348 675 673

N RO X N KR H 175 390 196 194
nOR 151 389 192 197

7 PR HT 31 77 34 43

B R ¥ g 485 1,284 656 628

& A& 62 160 74 86

Z ij) 107 24| 122 119

#H K3 1,011 2,54 | 1,274 1,267
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BEAD GEXEF - BTTH5)

2f7E58 | B
X £ Bq T 4 it FEH A = L2 53
Bl % # X Bl &K 642 |,464 708 756
F9 & %7 @B H | 2 2 0
A 1 HT 175 41| 198 213
B R B 734 1,585 770 815
& & 1,014 2,176 1,021 1,155
Bl % H 103 397 155 242
= & 1,968 3,899 1,922 1,977
B | TH 247 426 219 207
8 2 TEH 453 878 44 437
8 3 TH 506 809 409 400
8 4 TH 768 1,368 694 674
Mt 10 22 12 10
NGB OFE A HT 434 897 44 456
JE £ 787 %7 @ T 15 36 15 21
Ny HT 148 360 172 188
#H X 7,218 14,730 7,179 7,55 |
N R R X Nnm R E 1,330 3,067 1,505 1,562
#H X3 1,330 3,067 1,505 1,562
it > R X & ¢ H 74 214 14 100
& 7 #7 @ T 67 153 76 77
‘A BE YR E] 110 250 121 | 29
g @ g 60 |39 74 65
it /H  H 75 186 ql 95
n B 31 80 43 37
& A 66 171 86 85
X 8B 5 16 8 8
mHyE | TH 93 187 101 86
mHyE2TH qq 206 96 10
B a3 TH 100 195 a5 100
mHoE4TH 133 2917 141 156
BAaNE5TH 53 | 14 55 59
BN E6TH 83 169 85 84
#H X 1,049 2,377 1,186 1,191
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BEAD GEXEF - BTTH5)

2f7E58 | B
H K % B T 4 # FH | A = L 8
t®EE®E | LI TH 186 399 193 206
EWL2TEH 200 447 211 236
EWw 3 TEH |74 396 205 191
Bl 4 TEH 324 803 346 457
EWL5TEH 274 595 275 320
EWL 6 TEH 282 660 327 333
EWL7TEH 24| 574 284 290
EWL 8 TEH 276 596 294 302
WwWE I TEH 448 q07 418 489
WwWE2TEH 130 320 156 |64
¥ 3ITBAE 232 513 267 246
WwWE4TEH 159 359 166 193
WwW¥ES5TBH 243 544 260 284
WwW¥E 6 TBH 272 605 280 325
NI T B 27 59 29 30
N2 T H 358 892 444 448
N3 TEH | 84 406 212 194
NS 4 T B 569 1,132 498 634
T& 1 TH 206 467 221 246
& 2T7TEH 245 574 273 301
& 3TEH 142 316 166 150
T & 4T7TEH 275 666 320 346
T &5TEH | 89 43| 185 246
BRE I TH 193 480 234 246
BHRE2TH 211 560 270 290
BHRE3TE 75 190 89 101
wHRE4TH 207 445 204 24 |
TRESTH 288 734 345 389
Afx& | TH 167 418 205 213
A& 2TH 167 397 198 199
A& 3TH 368 800 397 403
Afr& 4 TH 672 1,427 662 765
o X E 7,984 18,112 8,634 9,478

3/4—Y




BEAD GBXF - BTT )

2f7E58 | B
H K % B T 4 # FH | A = L 8
Ry MK | gEyrl TH 176 776 523 253
Bk BE2TH 178 429 217 212
By A3 TH 210 465 237 228
o R4 TH 280 739 351 388
B4y A5 TH 340 799 372 4217
o E6TH 334 q3| 463 468
o BET7TH 433 ,115 569 546
W/ AW TH 292 711 325 386
W/ W2TH 24| 575 284 29|
W/ N3TEHE 386 q77 470 507
W/ N4TBHE 310 787 375 412
W/ W5TH 286 739 369 370
wr e TH 557 I, 141 560 58|
WworBE2TH 484 q97 490 507
WwWor B3 T8 364 1,006 503 503
Wwor B 4TE 363 620 310 310
BRI TEH 277 712 358 354
B¥27TEH 460 1,030 532 498
B3R 3TA8 306 75| 381 370
B¥ 4 TEH 341 644 313 331
B | TH | |34 35 qq
v B 3 T8 |7 41 19 22
# K F 6,636 16,119 8,056 8,063
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